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Abstract: The fact that the development of information and communication technologies (ICT) is a key factor of development of
individuals, regions, sectors and whole countries is well known at the beginning of the 21st century. The real situation of ICT
utilization is very different in particular sections and it fails to reach standards that we would expect. The sphere of the agrarian
sector of the Czech Republic is a very good example. The Information and Consulting Centre FEM at the University of Agriculture
in Prague (IPC) has been participating on research of the utilization ICT in agriculture for three years. According to the latest data
from July 2002, 55% of agrarian enterprises are connected to the Internet, which is much less than in other sectors.

Keywords: ICT, Internet, portal, agriculture, agrarian sector, information
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Table 6. Intensity of using Internet 2002
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